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1. Answer the following as directed : 1x8=8

(a) Which of the following is not an
important feature of New Economic
(Policy) Reforms in India?

(i) Introduction of being free of control
economy

(ii) Shift from public to private sector

(iijy Free entry to foreign private
investment

(iv) Reduction of inequalities
( Choose the correct answer )
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(2)

(bp) What is the full form of KYC?

(i) Know Your Consumer

(ii) Know Your Customer

(iii) Know Your Cash

(iv) Know Your Credit

{ Choose the correct answer )

() Mention one benefit of disinvestment.
(d) The blue revolution focuses mainly on

increasing milk production.

( Write True or False )
fe) What do you mean by linkage effect?
(i’ Which of the following is not an

institutional source of rural credit in
India?
(i) Cooperative credit societies
(ii) . Regional rural banks
(iii) Commercial banks
(iv) Village money lenders
( Choose the correct answer )
(g9 The prevalence of black money gives rise
to
(i) liberal economy
(i) parallel economy
(iii) global economy
(iv) All of the above
( Choose the correct answer )
{ Continued )
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(h

(3

Define merchandize trade.

2. Write short notes on any four of the following

(within 100 words each) :

(@)

(b)
()

(d)
(e)

(b)
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4x4=16
Impact of black money on Indian
economy

Sustainable agriculture

Role of service sector in economic
development of India

Diversification of industries
Role of WTO

Capital account convertibility

Discuss briefly the impact of fiscal
reform measures undertaken by the
Government of  India on Indian
economy. 14

Or

What do you mean by foreign trade
policy? What are its objectives? Explain
the salient features of the Foreign Trade
Policy, 2021-26. 1+449=14

Prepare a note on the changing
structure of Indian agriculture. Also
discuss about the possibility of another
green revolution in India. 10+4=14

{ Turn Qver )



(4)

Or

b) Describe the impact of agricultural price
g
policy on Indian agriculture. What are
its limitations? 10+4=14

5. (a) Discuss briefly the problems of public
sector undertakings in India. Also
explain the measures taken by the
government to reform public sector.

5+9=14

Or

(b) What are the determinants of foreign
direct investment in India? Prepare a
note on the impact of foreign direct
investment on Indian economy. 6+8=14

6. (a) Give an account of growth and
composition of the service sector in
India. 14

Or
(b} Write short notes on : 7x2=14
(i) Direction of India’s foreign trade
(i) Balance of Payments position in

post-reform period
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